e Outline lacks weight. Add maore significant-peiats —

such as deterrence etc 1,‘“

@)% pane Dosszblp i _aworld full of -
' weamns 3 . S e el 4
b

]= nVDM/hm 4—1——
; 2

 the QIobo atlivelu_in Derqu of wmare lethy!
| wmr)onm, the mf'psf o qlatgi Deute Yemams sKeplial 4

Im/ Advanzed: wmoons__ha:&e:k&é@— fffe(hw/q used

wa.s a soue of delenene in a  few (herru mnl(éoL~
scenayios) claims Hiat S[lggjﬂ} IomLanJ sushunablpg
otale can be achieved In a wm/li,Lll oﬁ . ¥

'Lweaonns sems.. fay- fehh&l I

? —Fhestsshalanap! . wlith :many counles a1l

=

o ldeapon@ ave akin lo a déi JouL/e eclad w)m/rh I[’

i

am bm/za pag . and also deshiog it~ f 3
_ Weapons  pose weal 1o q/olxz/ ;960(4 |
- Deshvuction e wnd e bovdevs of

conflicl yes-
= - (ounlies gibat possess_adyanig weaponry , fose_a Hheat
= lo  {hose who do ot
MM@M‘E—MOVG (onflick

i oliferalon 15 o weal _to _all o - Jivd
WV@ the way foV
olal  destruchion:
% byin v the urvld.

: We h ¢ usel as a souke of

SM
= Vipleny 15 MO inked _with _slafe pplicies
m  ralhe b N =



Outline lacks weight. Add more significant points such as deterrence etc


‘ Write all sub points in blue and main points in black
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Write all sub points in blue and main points in black

Kind of same as sub point a

How is it different from main point 3?

Use thesis-antithesis-synthesis approach 
When your synthesis is a middle way between thesis and antithesis. Do not use it if synthesis is same as either thesis or antithesis.

This is an evidence/example not an argument




